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You have been given this question booklet and a separate answer sheet. The question booklet contains 50 questions.
Do any necessary rough work in this booklet.
When you have chosen your answer, mark itonthe ANSWER SHEET, not in this question booklet.
HOW TO USE THE ANSWER SHEET
Use an ordinary pencil only.
Make sure that you have written on the answer sheet:
YOURINDEX NUMBER
YOURNAME
NAME OFYOUR SCHOOL
By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number
and the three-figure Candidate's Number) in the grid near the top of the answer sheet.
Do not make any marks outside the boxes.
Keep the sheet as clean as possible and do not fold it.
For each of the questions 1-50 four answers are given. The answers are lettered A, B, C and D. In each case only ONE of the
four answers is correct. Choose the correct answer.
On the answer sheet, show the correct answer by drawing a dark line inside the box in which the letter you have chosen is
written.
Example
In the Question Booklet.
S: Which one of the following components of blood is involved in clotting after an injury?
A. Whiteblood cells.
B. Redblood cells.
C. Plasma.
D. Platelets.
The correctanswer is D.
On the answer sheet:
tA1 (B1 cC1 oo tA1 tB1cC1 D1 tA1 tB1cC1 D1 tAr tB1:C1 D1 Y tA1 tB1cCa tDs
In the set of boxes numbered 5, the box with the letter D printed in it is marked.
Yourdark line MUST be within the box.
For each question ONLY ONE box is to be marked in each set of four boxes.

This question paper consists of 8 printed pages.
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2. Theveeth that hane three roots and
uneven taps are used for

A tezning and gripping

B cheswing and grinding

C cutting and holding

13 chewing and cutting.

3. Thediagram below shows a
simplified blood circulatory system.
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‘The most effective way of preventing
sexually transmitted infections
among the adolescents is by

A. having one partner

1. abstinence

. being faithful

D). using condoms.

‘The following arc signs of a certain
deficiency disease.

(i) Thin brownish hair.

(ii) Swelling of th : face and hand.
(iii) Protruding stomach.

The deficiency disease described
above is

A. Rickets

B. Marasmus

C. Kwashiokor

D. Anaemia

The figure below shows a simple

clectromagnet.

Solt ot

L
Swiwch

Which of the following describes th

enerpy transformation in the fioure

above when the switeh is on?

A. Chemical — .y electrical e DYCAT
- Kinetic.

13, Chemical —clectrical —,
magnelic.

. Chemical —,, Kinetic.—,,
magnetic,

D. Chemical electrical
kinetic,
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Which of'the following is not a way

at controlhng air pollution?

A Using well maintained engiies in
vehieles.

B. Avoid burmning plastic matetials,

C. Redueing the use of firm chemicals,

D Avoid burning vegetation cover,

The ehart below shows how Muchiri

greuped ecertain materials,

A4
/ Delinie / Detinite
ELEFR voluime

Which pair éf‘matcriais can be
represented by letter §?

A. Water and methylated spirit.
5. Water and smoke.,

C. Oxygen and dust.

D. Siene and steam.

Which of the following crop pests is
no! correctly matched with the

damage it causes?

Crop pest ﬁ.ﬁ mage §;1115a=tf“;h
A. Ws;:r:'.;ilz; Bore holes in grain
'B,'Aphidg" Suck plant fi:tpwj j
C. Stalk borers ‘Mukc holes in stems
D.Rodents | Cut stems of '

seedlings

10, Anastronaut travelled from Mars to

It.

12,

Neptune, Which of the following
planets did he not pass on his journey?
A Salurn

B. Earth

C. Jupiter

D. Uranus

Which one of the following is not true
about hard water? Hard water

A. forms scum in water pipes

B. requires alot of soap for washing
C. can cause bleaching of clothes

D. can be softened by boiling.

The lollowing are signs and
symptoms of a certain disease.

(i) Violent diarrhoea with mucus.
(ii} Severe abdominal pains,

The disease described above is likely
1o be

A. cholera

B. typhoid

C. malaria

D, bilharzia,

Which ot the following groups of animal

feeds constitutes of' o balanced diet?

AL Fish meal, molasses, cotton seed
cakes, fruns,

B, Honey, molasses, maize germ, rice
husls,

U Bananastenn, green fodder, fruits,
stiectlents.

D. Sunflower seeds, legumes,

fish meal, cotton seeds.
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Which one o the follow ing shonld
net be the same in ovder to mahe the
Lorreet conclusion?
AL Amount of soil
B. Type of'soil
C. Size ol cotton wool

D. Size of glass mibe,

Which one of the following is an
effect of HIV and AIDS infection o an
individual?

A. Schoal drop out,

B. Low self-esteent.

C. Pour economy.

D. Lew aeniculiural products,
¢ |

Hamisi saw a cow sheltermp under a

big tree on a hot day. The

characteristic of animals the cow

demonstrated was

A. reaction to chanpes in the
environment

B, movement

C. protection

D. feeding.

17, Which one of the tollowingt i a

I8,

19

correet fond vhain?
A Neotir. - buttertlies . pcaples
e Clhumeleon
I Faple - o chameleon o
butlertlies . fectan

v

COlattertties -y nechn -
chameleon —— vagle.

13, Neetat - buttertlies. -y

chameteon . caple

Which one of the following materials

catt be made to foat by changing its

shape?

AL Metallie badl

13, Plastic

CoWood

1 Paper.

The diagram below shows a set-up
that can be used to investigate a
certain efleet of heat on matter.
—1nk cop

Scale

BliaWeme

Y e —— Alttight Cork

Einply ““’"“§
botile

Uhe aspect being investigated is that
AL liquids expand when heated

B liquids change state when heated
C. gases expand when heated

D, air oceupies space,
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components of environment consist
of components which plants and
animals depend on direetly?

AL Soil and water,

B. Water and air.

C. Airand soil,

D. Buildings and rocks.

Which of the following is a social
etlect of drug abuse?

A Addiction

B. Lack of concentration

T

ruancy:

C
D. Fits

Which one of the following farming

activities is done during the wet

A. Land preparation.
B. Weeding.
C. Irrigation.

D. Harvesting.

Which of the following pairs of
liguids are immiscible?

A. Milk and spirit.

B. Water and ink.

C. Spirit and kerosene.

D. Cooking oil and kerosene.
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‘The diagram below shows a man

warming himself beside a fire.

The heat reaches his legs through
A. convection

B. expunsion

C. conduction

D. radiation,

The following are characterisics of a
certain type of cloud.

(i) Has irregular shape.

(ii) Appears low in the sky.

(iii) Looks like mountains.

The cloud described above is also
likely to

A. have a flat bottom

B. have rounded masses

C. look like bundles of cotton wool

D. cover the whole sky,

26. Which of the following statements is

true about immunization schedule for

infants?

A.DPT is a vaceine given against
tuberculosis at birth,

B. BCG is a vaccine given against
tuberculosis at birth.

C, DPT is a vaccine against diptheria,
whooping cough and tuberculosis.
D. Measles vaceine is given at birth and

nine months.



7. Which one of the following isa use of | 30, Which of the following groups

water for recreation? contains food rich in proteins?
A. Washing farm tools. A. Meal, sweet potatoes, rice,
B. Reating fish. B. Groundnuts, peas, eggs.

C. Making fountains. . Cheese, bananas, fish.

I3 Risnt racing. D). Maize, kales, meat.

IL Allthe following are special sounds
28. Energy can he conserved by the
. except

following wavs except usine i
£ WD i a A. car hooting
A energy sparinghy

B. ambulance siren

N e e N o wn g e IR

8. nonsrenewable sources of'energy C. screaming

Cenaroy affiotont Faa V i i
Loenergy eflicient devices D.anacroplane flying low in the sky.

32. The following are signs of ill-health in

' he diagram below shows a machine animals. Which one is not?

" . . . . Low ity pr
55T ean be used to make work easier. A quality products

B. Diarthoea

Ly | C.Coughing
I

il D. Blood in stool,
i
&

: \
"[ KLV;-»—— LOad

33. Soil can be conserved through all the
following ways except

A. ploughing across the slopes
YVhich of the fullowi s stalements i« .
Which of the following stalements is B. terracing steep slopes
not true about the machine above? C. planting cover erops

A. The effort distance is equal to the D. clearing bushes by burning vepetation,

load distance.

B. It can be used to raise a fug, 34, Lactating mothers need foods rich in
C. The effortapplied is equal 1o the roughages in their diet in order to
load lified. A make alot of breast milk
D. The effort and the load moves in the B. help in getting rid ol undigested foud
same direction, C. help to prevent dehydration

. boost body immunity,



35 The experiment Below was petormed by
stidand t{m;’pn‘gi}g!

Sl

Candle wof>~ M % Hisin
F ‘ <= Witkey

Which of the follow g statements is not

true about the above set-up?

A The candle went ol immediately.

B Thelevelofwater in the basin dropped,
CThe Tevel of water in the plass rose,

DL They conchided that part of RTINS

burnine.
=

36, Flesheaters have beaks that are
AL short, straight and conical
B.long, broad and serrated
C. strong, shortand hooked

D. long, slenderand courved.

37. Which one of the following pairs of
animals consists of herbivores only?

A. Chimpanzee and pi

iy,
B. Horve and zebra,
C. Lion and dog.

D. Hyena and pigs.

38, The figure below shows a plant growing

in a certain habitat,

#

A. thick waxy cuticle
13, succulent stem
(. broad leaves

1. silvery shiny hairs.

39, I hunan reproduction, the fusion of
miade and female sex cells takes place in
the
AL uterus
B, oviduet
O ovary

D, vageina,

40, Which one of the following methods of
separating mixtures is hest in separating
a mixture of wheat flour and husks?
A, Winnowing
B. Sieving
. Use of magnet

D. Fillering.

41, Which one of the following is not a
cause of food poisoning?
A. Chemicals,
B. Sprouting parts of Irish potato.
C. Decomposing [ruits.

13, Sealed canned toods,

42, When modelling the solar system,
which step comes after pasting the
manilla paper onto a soft board?
AL Putting name tags,

B. Drawing cireles to show orbits,
C. Modelling the planets,
D. Mounting the planets onto the

orbits,



43, The following are functions of the slern
i plants exeept
AL anspartation of water
Bosuppoding the crown
Costorage of food in some plants

D). absorption of minerals,

4. Which one of the follow we levers has
the position of' the effort between (he
falerume and the load when inuse?

A Claw havuner

B Snad

s

[ Whuaatlvaemass
L Wi Dirron

- vinchone ot the following pairs

wes of sources of electricity?

:1b and geothermal genertor,

% ke ¥

Vv and bicyele dynamo.

46. Which of the following proups of plants

e

e g b1
risis H

stz ol non-flowering plants only?
A, Sisal, cactus, cedar,
B. Carrot onons, tomatoes,

C. Cypress, cedar, pine.

D, Midlet, grass, cabbage,

47, Which one of the following is not un
importance of lghting a honse” To
AL keep the house warm
B. keep ol pests
C. read comfortably

D. avoid accidents in the housc.

48, Which ane of the following animals
gives us mutton and milk?
A. Sheep
B. Goat
C.Cow

D. Camels.

49. Ti e following are conditions necessan
for a seed to germinate except
AL water
B. wanuth
C. air
D. soil.

50. Which one of the following methods
does not reduce friction?
A. Using ball bearing.
0. Using rollers.
CoTeading

D. Oiling.




	SCI CYCLE 7
	SCI SET 25



